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Can you divide each amount of money by 4 or 5?





£1.20 ÷ 4 =








£1.60 ÷ 4 =








£2.80 ÷ 4 =








£4.00 ÷ 4 =








£3.20 ÷ 4 =








£3.60 ÷ 4 =








£3.65 ÷ 4 =








£4.05 ÷ 4 =








£2.82 ÷ 4 =








£1.30 ÷ 4 =





£3.50 ÷ 5 =








£2.00 ÷ 5 =








£1.00 ÷ 5 =








£1.30 ÷ 5 =








75p ÷ 5 =








35p ÷ 5 =








40p ÷ 5 =








47p ÷ 5 =








43p ÷ 5 =








47p ÷ 5 =





Name:_______________     Date:__________________________





Name:_______________     Date:__________________________





£3.50 ÷ 5 =








£2.00 ÷ 5 =








£1.00 ÷ 5 =








£1.30 ÷ 5 =








75p ÷ 5 =








35p ÷ 5 =








40p ÷ 5 =








20p ÷ 5 =





£1.60 ÷ 4 =








£2.80 ÷ 4 =








£4.00 ÷ 4 =








£3.20 ÷ 4 =








£3.60 ÷ 4 =








80p ÷ 5  =








£4.40 ÷ 4 =








£1.20 ÷ 4 =





Can you divide each amount of money by 4 and 5?











Dividing by 4 or 5 with some remainders.

















Dividing by 4 or 5 with no remainders.








J.Gordon 


